
www. Betstco.com
541-895-3083 M-F 7am-4pm PST

83371 Melton Rd, Creswell OR 97426

25G Manure  Spreader

������������������������ 
�������������������������������������������
�����
�������������	����������������������
����
������������	���������������������������������������������������������������


PK-ATBH7 TOWABLE FLAIL MOWER

Pow R kraft

Pow R kraft

















Attach the Boom weldment to the swing 
weldment, using the 30mm pin

Attach the Boom cylinder. You might 
need to relieve the pressure of the 
cylinder to reach the swing weldment. 
To do so, unscrew the hose that are 
attached to the cylinder.

Once the cylinder is in place, use the 
M8x60 bolt and M8 Lock Nut to secure 
the cylinder in position - #18(bolt) 
#17(nut) on the exploded view of the 
boom assembley. 

Using another M30 pin, Connect the Front 
Arm weldment to the Boom weldment.



Use the M8 Bolt and M8 Lock Nut to 
secure the pin into place

Relieve pressure in the cylinder

Remove pin and place the front 
arm cylinder in position, install the 
pin and use your M8 Bolt and lock 
nut to secure ram.

Attache your hose �ttings back on 
the cylinder.



Tighten all hose �ttings and nuts and 
bolts. Grease your zirk �ttings. 

Attaching handles

Attach handles throught the rubber 
boot and tighten the handles snug.

Tuck in rubber boots



Installing the seat.

Install seat bracket and adjust 
geight of sleeve under the seat.

Attach seat belt receiver and tighten 
down bolts.

Attach seat belt buckle and tighten 
down bolts.



Use the boom to lift tires o� 
of the ground

Remove the tires and place opposite 
side of the jack stands

Lift stabilizer rods and place 
them where you took the tires 
out of.

You might have to raise 
the jack to get the tire 
weldments in to their 
slot.



Raise up the boom and let the 
stabilizer legs sink into the ground

Raise up the jacks and lock 
them into their horizontal 
position. 

Tighten all Nuts and Bolts! Grease all the Zirks! Check Engine Oil! Check Hydraulic Oil!





Read the ENTIRE IMPORTANT SAFTEY INFORMATION section

Warning! To Prevent























































 





LIMITED 1-YEAR WARRANTY

Gasoline or diesel engines used to power products are covered by the warranty of the
appropriate engine manufacture and Purchaser must look to the engine manufacture for all
issues relating to engine operation.



REGISTRATION



 I understa nd that I alone am
responsible for proper maintenance, care and safe operation of this equipment.


